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QUESTION 1

A customer has virtualized a USP behind a VSP. 

Which two actions can be performed by Universal Volume Manager? (Choose two.) 

A. configure load balancing by path group 

B. set the cache mode for the external volumes 

C. migrate USP volumes to the VSP 

D. expand external volumes 

Correct Answer: AB 

 

 

QUESTION 2

During the initial setup of a VSP the subscription level for the HDP pool was set to 100%. Now the customer would like
to allow overprovisioning up to 120% on the existing HDP pool. What would you tell the customer? 

A. It is possible to overprovision the existing HDP pool. 

B. It is not possible to overprovision the existing HDP pool. 

C. Overprovisioning will be available only for newly created DP-Vols. 

D. Overprovisioning will be possible only after the HDP pool expansion. 

Correct Answer: A  

 

QUESTION 3

What are two prerequisites for virtualizing volumes on a VSP? (Choose two.) 

A. Shared memory must be reserved for external storage operations. 

B. The external storage system must be connected to one or more external ports of the VSP. 

C. A CLPR must be created for the external storage. 

D. The Universal Volume Manager license must be installed in the VSP. 

Correct Answer: BD 

 

QUESTION 4
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What are two effects of enabling the Hitachi Dynamic Tiering (HDT) function in the Shared Memory configuration
screen? 

A. There will be a performance impact. 

B. Write Through Mode will be enabled for the entire cache. 

C. Write Through Mode will be enabled for a specific cache area only. 

D. All write pendings will be destaged. 

Correct Answer: AC 

 

QUESTION 5

Hitachi Dynamic Link Manager (HDLM) has been configured on a Solaris 10 server with 10 LUNs across two paths. You
want to verify the number of LUNs and the path assignments. Which command would you use? 

A. dlnkmgr check -path 

B. dlnkmgr view -path -c 

C. dlnkmgr disp -lun -path 

D. dlnkmgr show -stinfo -t 

Correct Answer: B 
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